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The function cuts the xaiis at (1, 0)

"Thé_ré is no. y—iﬁféréépt )

Kty-2=20 S Plsthe point (3,7)

/. The gradient is.constant™

x=3y+9=0_ .

. Thegradientis=1

P is the point (2,9) The line does not cut the x-axis

Whenx= 12: .'V . —10 i

The yintercept is (0, 3) " As xincreases y decreases -

.
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Match four appropriate statements from page sixteen with

each of the formulae.

and series




a = the first term

When n=10,a8=1,d=3
S,=145

For<1,5,9 13 ... >
-t =4n-3

-When a=2, r—3 n 4
t——54

* i represents the Interest rate

'Th[s is the general term of a geometrlc:
sequence '

= the common ratio

- This formula is used to calculate the amount of
money in a compounding interest account

This version of the formula is used when r< 1

If r>1, the sequence is increasing

This formula is used to calculate the sum of a
number of terms of an arithmetic series

S_ never converges for this type of series

s a symbol used to show adding
terms together

d=the cb_mr_n'o_rs difference

h'_répre::s_'enztss the "_gerieral' term
2(5) + 3(6) +4(7) = 56

=3, d=4t=47,n=12

' Sis the total amount of the prmc]pai and”

| nte re st

Fis used to show how to calculate each

term

This is the general term of an arithmetic
sequence

This formula is used to calculate terms of a
georetric series

n represents the number of
interest periods

16
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Match four appropriate statements from page eighteen with
each of the sequences.




This is the sequence of square numbers

AS N — oo, tn—>0

i = '2'(0415
-

f=2n-1

This is an arithmetic sequence

This is Fibonacci's sequence

L-t=9

This is an increasing seguence

=49

s
1l

-

Th'is is a ééq'uenc_e_ of _’the_p_o:wer_s' of two

a=27
i-n' = tn—l + tn»-2

18
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\ Algebra:
i+ Terminology (1)

Find four problems from page twenty of each type listed
below. Your next job is to do them.




#X-Tx=0

o

X'i (X18)2

10a+ 7b+ 13a-23b

3p
15

3x-T7r+ 2x{x+ 1)

9x2 + 3x

Cwhen C = % (F-32) and F= 105

t?+ Btwhen t=3.1

3m? when m=

X + 15x = -B0

3x2-10x-8

(b +9)p—6)

>

W

Plp-T)

>

-]

1

2

Bb-3¢cifb=7,¢=

alx—y) —3x+ 3y

20 - x— ¥

5x2y

L 1bxA

20
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Algebra:
Terminology (2)

Find four problems from page twenty-two of each type
listed below. Your next job is to do them.




Sx_ 4y
2y  3x

fa=7,3&8=

(3 + TH2x ~ 3)

158y
LBXy

Sy

(51_1+ 20)(5u - 2v)

E+Tx+12=0

v EE—9y)

2E-n=6x-1)

B(2x + 3) — 7x(5 — %)

(3a+ 4b)(a- 2b)

X2+ Tx

(a+ 5)(a-2) whén a= 4

24 5te3+TE-16t
2+ 11b :w:hén'x =23 and b=

'aX'+_ay-':'—"_:2:bX_+. 2¢cy e

22
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Each of the information sharing questions has six sets of clues. The
clues for each person in the group are on different pages. (E.g. clues
forperson A are on pages 23 and 24, clues for person Bare on pages
25 and 26 etc.) All the clues for question one should be combined
to solve the problem. Group members should exchange informa-
tion by talking only, not be reading each other’s clues.

).'._ :

The function has & minimum point at (0, 0)
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Clues for person

h of J ey only pooke

iney only-pooked: - Howmany peopl
were iO Km/h ormore ov __r__the_'_s_peed i

_’éér’Stha_f L beéts_béﬁtmmuie?
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»_ Information

¥ Sharing
Activities

Each of the information sharing questions has six sets of clues. The
clues for each person in the group are on different pages. (E.g. clues
for person A are on pages 23 and 24, clues for person Bare on pages
25 and 26 etc.) All the clues for question one should be combined
to solve the probiem. Group members should exchange informa-
tion by talking only, not be reading each other’s clues.



Clues for person
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Information
Sharing
Activities

Each of the information sharing questions has six sets of clues. The
clues for each personin the group are on different pages. (E.g. clues
for person A are on pages 23 and 24, clues for person Bare on pages
25 and 26 etc.) All the clues for question one should be combined
to solve the problem. Group members should exchange informa-
tion by talking only, not be reading each other’s clues.

S

o
-

o




ntiation will give the gra
_the curve.

T R e o
S
-

Clues for person
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Each of the information sharing questions has six sets of clues. The
clues for each person in the group are on different pages. (E.g. clues
for person A are on pages 23 and 24, clues for person B are on pages
25 and 26 etc.) All the clues for question one should be combined
to solve the problem. Group members should exchange informa-
tion by talking only, not be reading each other’s clues.



Forty

oid.”

30

/of the people sampled were over 65years



31

Each of the information shafing questions has six sets of clues. The

‘ Inform a%i@ 3] clues for each person in the group are on different pages. (E.g. clues
i . for person A are on pages 23 and 24, clues for person Bare on pages
i Sgﬁaé‘lﬁg 25 and 26 ete.) All the clues for question one should be combined

} B nym to solve the problem. Group members should exchange informa-
A@tﬁvgtgeg tion by talking only, not be reading each other's clues.




Clues for person

32




33

Information

Sharing

Activiti

a

es

Each of the information sharing questions has six sets of clues. The
clues for each person in the group are on different pages. (E.g. clues
for person A are on pages 23 and 24, clues for person B are on pages
25 and 26 etc.) All the clues for question one should be combined
to solve the problem. Group members should exchange informa-
tion by talking only, not be reading each other’s clues.

9&%}%{%‘%‘:\%‘%&1, o

Sketoh the tangent at point A



